1.

COSA =

= W

3V7

O —=

A o], sinA + tanA ©] 27 (T, 0° <A <90°)

57

77 57 VT
@0 0O - 9 4



@ 5(3+ V3)cm
@ 5(3- V3)em
® 5(3+ V2)cm
@ 5(2V3-1)cm

® 5(34+2V3)cm



oS 23} o] 3x-2y+12 = 0 9] 1= y
oF x 0] Fo] ko] olF= 2+ A7 5 a
2t szt o] wf, 2tana 9] FH-& F5todzt

37-2y+12=0

a

/ (0]




4.

& I A /BAC = 90°, BC L AH ©|1 /HAC = x &} &

tanx 9] #f27




oS JEa} o] AB =6, AC = 10 |1, /B = 90° ¢l AABC ©fA]
sinA ©] 27




th& 1 ellA AABC 9 Holg otH?

A
49°
R
B2 -
“~-10cm -~ C
(Af2tdl el 1)

T sin cos tan z
49° 0.66 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.72 0.97
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@ sin45° = cos45°

@ cos48° > cos38°
@ tan35° < tan40°® @ sin37° < cos37°
B sin56° < cos 56 °
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2t | AFQl(sin) | EALQRl(cos) | EtMIE (tan)
30° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0,7547 0.8693
42 0.6691 0,7431 0.9004
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